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Degree (Part-II) Examination, 2023

( Vocational )
ECONOMICS
[ Paper : Second ]
[ PPU-D-II-(V)-ECO ]

( Planning and the Indian Economy )

Time : Three Hours] [Maximum Marks : 100

Note : Candidates are required to give their answers in their
own words. The questions are of equal value. Answer
any five questions. Each questions carries 20 marks.

‘Question No.1 is compulsory.
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. Select the Correct answer L

(i) Poverty gap is :
(@ The dlfference between poverty line a anc

actual mcome level of all those Ilvr g

‘below that line

(b) Gap between developed nations and

deveioping nations
(c)  Gap between rich and poor

- (d)  Gap in infrastructural facilities between _

develobed and developing nations
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(v)  The main objective of regional rural bank

provide credit to : .

(a) Weaker sections of soci-éty
Weaker section of rural population :
(c) | All the p_eople- of sbciety

(d) Rural people
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(a) {ﬂ.ﬁ'fﬁ appro ﬁ“l! lo; ‘M'L{_( | government Is
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~undertaking

. o ‘.'.. ;':l_ll_:
(b)  Anindustry intending to have more than

| J'i ) 100 crore of assets is required to pbfain;'-. *o
B ST . the permission of the central government

g,

(‘c)" 'ri'or“appr.oval of central gov'ernment.for r
establishing new und:'ertakijngs and
' expanding existing undertaking is not

required

; ~ (d)  Two or more companies deciding to
amalgamate are reqwred to take the pnor

-

- approval of the central government
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(vi) Which of the following is not an objective of exp *"'51.,.

promotion éapita| goods scheme ?

(@)  Promote import of' capital goods to |

enhance export ! i

\/w)/Promofe exports from India
‘ _ 4

(c)  Infuse high technology capital equ&pm

~in the manufacturmg sector

~(d)  Reduce the customs. duty coIIect1 n from
- manufacturers C e
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(viiy  Which of the foIIownng was not the objectlve of
the 12th Five-Year Plan ? :

‘(a) To create 50 million new work

opportunities in the non-farm sector

| )p)/ To reduce malnutrltlon -among children

aged 0-3 years

(c) To increase green cover by 1 -million

hectares every year
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\A/| »
VWhat IS the main g

Program ?
- Upliftment of the poor
el
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The most important small s'é‘alélﬁr a*\v in India

is :
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(@Y~ Handicraft industry
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(Long Answer Type Questions)
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Explam the sahent features of recent Lﬁ EE’-S Policy In
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Describe ‘about role and function of NABARD in

agriculture development.
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What are the causes of backwardness of Indian

agriculture ? Expléin it in detail.
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What are the major land reforms of India ? Why are land

reforms needed in Indian economy ? Discuss it.
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Write a note on population policy of India.
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Discuss the major trends in composition of India's

foreign trade since 1991 in brief.
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Critically examine the energy polic'y.of the Gq(_z.e-ﬁ nmen
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